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for n = 6:10
kn = 1 / sqrt(1 + 2~(-2*n));
K =K * Kn;

VKR
VK
endfor

[VKn, Kn];
[VK, KI;

figure(1);
plot(VK);

figure(2)
plot(VKn);
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= tan ' (27') = tan"'(%,)

= tan '(2") = 45.00000°

= tan~'(27') = 26.56505"

= tan '(277) = 14.03624"
= tan ' (27°) = 7.12502°
= tan ' (27%) = 3.57633"
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 (%i3) taylor(cos(x), x, 0, 8);

x? x* x° x8
(%03)/T/ 1-—H
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' (%i4) taylor(sin(x), x, 0, 8);
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(%i11) taylor(tan(x), x, 0, 8);
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|%i21) taylor(atan(x), x, 0, 16);
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(%i23) f(x) :=
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' (%125)
(%025)
(%126)
(%026)
(%i27)
(%027)
' (%i28)
(%028)

float(f(1/2));
0.46364724210793

float(f(1/272));
0.24497866312362

float(f(1/273));
0.12435499454676

float(f(1/274));

0.062418809995957

3 5 7 9 11 13

15

x=X"3/3+x"5/5=-x"7/7+x"9/9-x"11/11+x"13/13-x"15/15;

octave:5> atan(1./2.”n)'
ans =

0.7853982
0.4636476
0.2449787
0.1243550
0.0624188
0.0312398
0.0156237
0.0078123

ANODO O




@c = Gbam( ,f{’)

]
\

ém ~ 0 Fom

A0
\)_\'.‘\‘\}

%Qt-m = *Fm (:-(I.'Z\

- \\-.Il \\IJ'
——— N N
-~~~ . .mm Iu .nv
a | I
PN —
j - >
§ & =£
- e 8
a.\ Il(\\
— . )
N’ ‘Q
3o » 3 7
> <S IX
A =1
A
v D m
—~ < -
S &/ R
L L/
( S~ »)
3o Xy 2
Av..m ‘"umx

us

ANCAY
Ce

8
codX




After initial iterations Jca/v\_l (’\Z’ ) A

1= 1:20;

theta = atan( 1 ./ 2.~(1));
p2 = 1./ 2.7;

plot(i, theta, i, p2)

A tan0, = % = k, B, = tan '(27') = tan (k)

J P 1+ ;2° 0, = tan '(2°) = 45.00000°
magnitude
V1+k? =

V1+27 L1 1+ 2" B, = tan '(27) = 26.56505°

1 =2 1+ /27 0, = tan"'(27) = 14.03624°

= 1+ 27 B, = tan ' (27°) = 7.12502°

o 1+ 2 0, = tan"'(27") = 3.57633"
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Afte

r initial iterations K: =1

scaling constant K doesn't change much after initial 5 ~ 10 iterations

’

either substracted or added

in other words, zero can be added

this may cause fast convergence and improved resolution
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cos (ton? (1)) 3 (tam? (£))- 3 (tam? (). -~

0.994 * 0.§9Y - 0.97p - 0.9¢2 - 06-948 - - -
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